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Plot the waveform speci%eo\ below .
Joy= ZUCEHI5) ~ 35 U(-t-2) , whee UMW) is the unit step unetion .

(1o%)
(%) Given the civewit shown in _F'ij.l. i _
(40%) tay Write +the d\'?feren-tio\\ equorh‘on 'Fov the cuyvent AL(t) il_&f)
() Find the zevo-input vesponse (hen istty=o . (]
P\ r Ast‘t)(D R L
mitial state s = To.
«r Find the step Yesponse . F‘B' I
) TFind the (mpulse vesponse, |
i:? IsCt) = 2wt) mitial stote Xu0)= 3T , Where Ut) s umit Step "R,mc'h'on)
Find the complete vesponse JANC N |
(f:;) Deyive the expression '{ov Rz such that +he two ports shoun ™ Fl‘j~2 ore equ\v'%‘eﬂ’c.
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Tind the yatural -Fvequenc\es og the netwovk vm\ab\es (Vi omd V2) mdxmfei ont the

(o)

“T‘;%) Y\€JCW°Yk Shown in F\g 3.

(D The |imear time - mvaysont coyamt showm n Figd. is in the Steady state
/7

(20%) (oo Determine -the open civeuit voltage Voc (t) at tevminal © and @,
wWhen 'bhe. load s open- ciyauited .
() Deteymine -the equfvo\\ent impedance Zeg which s DQaCeo\ by -the load .
M > Teg [
+ 2v, O O
Voct) N3y, risct):} load = Voo load
= Cos(t) | - | ®'e v (D;
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